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Exercise 1. Let (αn)n∈N be sequence of reals, and λ, x ∈ R. Let the sequence (λα)n∈N, defined
by

(λα)n = λαn,

for every n ∈ N. If αn
n−→ x, show that (λα)n

n−→ λx.
[4 points]

Exercise 2. (i) Let the sequence α of reals defined by

αn =
4n2 + 14n

n3 − 2
,

for every n ∈ N. Find the limit of (αn)n∈N.
[2 points]
(i) Let the sequence β of reals defined by

βn =
4n3 + 14n

n2 − 2
,

for every n ∈ N. Explain why (βn)n∈N is divergent.
[2 points]

Exercise 3. Let (αn)n∈N be a sequence of reals, and x,A,B ∈ R. If αn
n−→ x, and if

A ≤ αn ≤ B,

for every n ∈ N, show that A ≤ x ≤ B.
[4 points]

Exercise 4. Show that there is no rational number q such that q2 = 3.
[4 points]

Submission. Wednesday 20. November 2019, in the Exercise-session.

Discussion. Wednesday 20. November 2019, in the Exercise-session.


